SIDE ONE

API NO. 15- 125-29215

STATE CORPORATION COMMISSION OF KANSAS OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM

OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM	County Montgomery
ACO-1 WELL HISTORY	X East
DESCRIPTION OF WELL AND LEASE	
Operator: License # <u>30078</u>	Ft. North from Southeast Corner of Section
Name: Universal Exploration Operating	2305 Ft. West from Southeast Corner of Section (NOTE: Locate Well in section plat below.)
Co., Inc. Address 9250 E. Costilla Ave., Ste. 610	Lease Name Watkins Well # 7-31
City/State/Zip Englewood, CO 80112	Field Name Neodesha Producing Formation
Purchaser:	Elevation: Ground 812' KB
Operator Contact Person: Joe Meglen	Total Depth 1100' DTD PBTD
Phone (303) 792-0405	Total Depth 1100 D15 PB10 5280
	4950 4620
Contractor: Name: Kephart Drilling	4290
License: #5379	3630
Wellsite Geologist: John Livingston	3300
Designate Type of Completion	2640
New Well Re-Entry Workover	1980
$egin{array}{cccccccccccccccccccccccccccccccccccc$	1320
Gas Inj X Delayed Comp. Dry Other (Core, Water Supply, etc.)	1
If OWNO: old well info as follows:	11-05-90
Operator:	
Well Name:	Amount of Surface Pipe Set and Cemented at 20 Fee
Comp. DateOld Total Depth	Multiple Stage Cementing Collar Used? YesX N
Drilling Method:	If yes, show depth setFee
Mud Rotary Air Rotary Cable	If Alternate II completion, cement circulated from 20 /09/
$\frac{7-9-90}{\text{Spud Date}}$ $\frac{7-10-90}{\text{Date Reached TD}}$ Completion Date	feet depth to Surface w/ 3 1/0 sx cmt
Derby Building, Wichita, Kansas 67202, within 120 days 82-3-106 apply. Information on side two of this form will writing and submitted with the form. See rule 82-3-wireline logs and drillers time log shall be attached with form with all plugged wells. Submit CP-111 form with a conversion of a well requires filing of ACO-2 within 120 days.	
All requirements of the statutes, rules and regulations promu with and the statements herein are complete and correct to	ulgated to regulate the oil and gas industry have been fully complie the best of my knowledge.
Signature	K.C.C. OFFICE USE ONLY
Title Date	
Subscribed and sworn to before me this $\underline{}$ day of $\underline{}$	
19	Distribution KCCNGPA
Notary Public	KGS PlugOther
Date Commission Expires MY COMMISSION EXPIRES O	6/18/94
•	

SIDE TUD

interval tested, ti hydrostatic pressure if more space is nee	s, bottom hole	temperatur	re fluid	tions penetrated. Deta and shut-in pressures recovery, and flow rate	all all cores. Res, whether shut-ins if gas to surface	eport all dri n pressure re e during test	ll stem tests giv eached static lev . Attach extra sh	ing el, eet
rill Stem Tests Tak Attach Additiona)	(en il Sheets.)	Yes	⊠ No		Formation	Description		
Samples Sent to Geol	ogical Survey	X Yes			X Log	☐ Sample		
ores Taken		Yes	X No	Name	Top) Pos	ttom	
lectric Log Run		Yes	□ No	Pawnee	57			
(Submit Copy.)		162	- NO	Oswego	66			
				Tucker	96			
				Riverton C				
		CASI	ING RECORD					7
	Report al			New Used	diate, production	, etc.		
	Report at Size Hole Drilled	l strings Size C	set-condu	New Used	ting Type o	of # Sacks	Type and Percent Additives	
	Size Hole	l strings Size C	set-condu	New Used ctor, surface, interme	ting Type o	of # Sacks Used	Additives	_
Surface	Size Hole Drilled	Size C Set (I	set-condu	New Used ctor, surface, intermed Weight Lbs./Ft. Dep	ting Type of the Cement	f # Sacks Used	Type and Percent Additives 2%qel; 3%cc 5#gil.2%qel	-
Surface Production	Size Hole Drilled	Size C Set (I 7 4 1/2 RECORD	set-condu	New Used ctor, surface, intermed length begins Set Lbs./Ft. Deprison 24 2 2 9.5 10	ting Type Cement Cement Class A	# Sacks Used 3 OZ 110	Additives 2%qel; 3%cc 5#qil.2%qel	-
Surface Production	Size Hole Drilled 8 3/4 6 1/2 PERFORATION	Size C Set (I 7 4 1/2 RECORD	set-condu	New Used ctor, surface, intermed length begins Set Lbs./Ft. Deprison 24 2 2 9.5 10	ting Type of Cement Class A Class A Class A Class A	# Sacks Used 3 OZ 110	Additives 2%qel; 3%cc 5#gil.2%qel **weeze Record	-
Surface Production	Size Hole Drilled 8 3/4 6 1/2 PERFORATION	Size C Set (I 7 4 1/2 RECORD	set-condu	New Used ctor, surface, intermed length begins Set Lbs./Ft. Deprison 24 2 2 9.5 10	ting Type of Cement Class A Class A Class A Class A	# Sacks Used 3 OZ 110	Additives 2%qel; 3%cc 5#gil.2%qel **weeze Record	-
	Size Hole Drilled 8 3/4 6 1/2 PERFORATION Specify Footage	Size C Set (I 7 4 1/2 RECORD e of Each	set-condu	New Used ctor, surface, intermed Weight Lbs./Ft. Deprivate Perforated (Amount of the control of the ctor) and the ctor, surface, intermed Lbs./Ft. Deprivate Perforated (Amount of the ctor) and the c	ting Type of Cement O Class A O98 50:50 p Acid, Fracture, Sh unt and Kind of Ma	# Sacks Used 3 OZ 110	Additives 2%qel; 3%cc 5#gil.2%qel **weeze Record	-
Surface Production Shots Per Foot	Size Hole Drilled 8 3/4 6 1/2 PERFORATION Specify Footage	Size C Set (I 7 4 1/2 RECORD e of Each	set-condu	New Used ctor, surface, intermed length begins Set Lbs./Ft. Deprison 24 2 2 9.5 10	ting Type of Cement O Class A O98 50:50 p Acid, Fracture, Sh unt and Kind of Ma	# Sacks Used 3 DOZ 110 not, Cement Sc terial Used)	Additives 2%qel; 3%cc 5#gil.2%qel **weeze Record	-
Surface Production	Size Hole Drilled 8 3/4 6 1/2 PERFORATION Specify Footage	Size C Set (I 7 4 1/2 RECORD e of Each	set-condu	New Used ctor, surface, intermed Weight Lbs./Ft. Deprivate Perforated (Amount of the control of the ctor) and the ctor, surface, intermed Lbs./Ft. Deprivate Perforated (Amount of the ctor) and the c	ting Type of Cement Class A Class A	# Sacks Used 3 DOZ 110 not, Cement Sotterial Used)	Additives 2%qel; 3%cc 5#gil.2%qel **weeze Record	-

KEPHART DRILLING INC. R.R. # 1 BOX 68A THAYER, KANSAS 66776

					_
Universal	0'		10'	-	clay
	10'	-	114'	-	shale
Watkins 7-31	*35 '		1201		water
	114'		130'	-	lime shale
15-125-29,215	130'	-	133 ' 136 '		lime
ACCOL NF. C.	133'	_	155 '		shale
4660' N of S	136'	_	200'	_	lime
2305' W of E	155 ' 200'	_	267'	_	sand
7 21 16 26	267	-	296 '		lime
7-31-16 MG	296 '	_	350 '	_	shale
201 - F 71 2 gament	350 '	_	353 '	_	lime
20' of 7" - 3 cement	353 '	_	377 '	_	shale
Started: 7-9-90	377 '	_	378'	_	lime
Started: 7-9-90	378'	_	404'	-	shale
Finished: 7-10-90	404'	_	431'		lime
Timished: / 10 00	43'	_	449'	_	shale
	449'	_	459'	_	lime
	459'		463'	_	shale
	463'	_	479'		lime
	479'	-	495'	_	shale
	495'	_	496'	_	coal
	496'	_	509'	-	shale
	509'	_	516'	_	sandy shale
	516'	_	578 '	_	shale
	578 '	_	600'		lime
	600'	_	612'	_	shale
	*600'	_	605'	_	gas odor
	612'	_	622'		sand
	622'	_	664'	_	shale
	664'	_	6881	_	lime
	6881	_	696'	_	shale
	696'	_	712'	_	lime
•	712'	_	717'	_	shale
	717'	_	718'	-	coal
	718'	_	729 '	-	lime
	729'	_	802'	_	shale
	802 '	_	804'	-	coal
	804'	_	818'	-	shale
	818'	_	828 '	_	sand
	828'		851'	-	shale
	851'	_	853 '	-	coal
	853 '	_	960 '	-	shale
	960'	_	970 '		sandy shale – odor
	970 '	_	980 '	-	sand
	980'	_	990 '	-	shale
	990'	_	1000'	-	sand
	1000'	_	1050'	-	shale
	1050'	-	1051'	_	coal
	1051'	_	1056'		shale
	1056'	- -	1057'	-	coal
	1057'	_	1097'	_	shale
	1097'	-	1100'	_	chat
	1100'	Total	Depth		
	-		-		

Kephart Drilling, Inc. OIL, GAS and WATER WELL DRILLING

r KEPHART н. R. 1, Box 68A Thayer, Kansas 66776 316-839-5421

JOE KEPHART R. R. 1, Box 71 Thayer, Kansas 66776 316-839-5239

Name _	Universal Ex	coloration		12-90
ļ			Obana 303	7-792-0425
Address	9250 £ Cos	5 to 1/2 A	venve	Su, te 610
En	9250 £ Cos 5/cwood, Co	2 801	/2	
QTY,	DESCRIPTION	V	UNIT PRICE	AMOUNT
1	Newby 6-3	3		
31.60	Feet Surface	د	5.50	173.80
_4	Sacks cement	•	6.25	25.00
1155	Ft drilled		3.25	3753.75
				3 952.55
	Watkins 7-3			
20	Ft Surface		5.50	110.00
3	sacks cemen	+	6,25	18.75
1100	Ft drilled		3.25	35 15.00
				3703,75
	Wertz 1	7-//		
38	Ft surface		5.50	209.00
5	Sacks cemer	, /	6,25	31.25
7	7.10 8 Rd C		40.00	40.00
1070	st drilled		3.25	3477.50
				3 75 7.75
30 DAYS	60 DAYS 90	DAYS		
	in full upon receipt of 1½% monthly finance		SUB TOTAL	
	ual) will be added to all	215	8 TOTAL	11,414,05
1	•			NSCO-17477



GROSS INVOICE

1232.30

TAX

34.77

211 West 14th Street P.O. Box 884 Chanute, Kansas 66720

Phone: (316) 431-7690 (Office) (316) 431-9210 (Shop)

INVOICE DATE	INVOICE NO.
07/31/90	00111861

_		٦
s ˈ		
0		
L		
D	UNIVERBAL EXPLORATION	
т	9250 F. COSTAILLA AVE., SUITE 610	
0	ENGLEWOOD, CO 80112	ĺ

TERMS: Net 30 Days

Thank You!

A Finance Charge computed at 1 3/4 % per month (annual percentage rate of 21 %) will be added to balances over 30 days.

PLEASE PAY

1267.07

		THIS ACCOUNT	NUMBER WHEN MAKI		January 05 15 -	Tros Trovers		
ACCOUNT NO.	P.O. NO.		LOCATION	LEASE AND WELL NO.	DATE OF JOB	JOB TICKET N	O.	
8251			1	WATKINS 7-31	7/13/90	81150	1	- r
ITEM NUM	/BER			DESCRIPTION	UNITS	UNIT PRICE	UNIT MEAS	EXTENDED PRICE
5401				CEMENTING PUMP	1	325.00	CHEC	325,00
1101			<u> </u>	CENTENT	120	5.25	sk	630.00
6401				TON MILEAGE	1	52.00	CHIC	52.00
1301				PREMIUM GEL	2	6.90	S K	13.80
4408				PLUG 4½"	1.	18.50	EH	12.50
1214				AY-60	5	21.00	GAI	106.00
6210				TRUCKING VACUUM	2	44.00	IIIC	88.00
ļ			·			÷		
			•	-				
								:
		ļ						
] [
i .								1
l .		l			<u> </u>		1	

REMITTANCE COPY